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Question # 1
Verify following: (1)

(i1)

sin 60° cos30? — cos 60 sin 30? = sin 30°

sin®” +sin?” +tan? ¥ =2
6 4
. | . 3
(iii)) 2sin45 + —csc45 =——
2 B

@v) sinﬂg:sinzZ:sinZZ:sin27z=1:2:3:4

Solution

(1) L.H.S = sin60° cos30° — cos60° sin 30°

2 2 22 4 4 4
R.H.S = sin30 =; ............ (i)
From (i) and (ii)
L.H.S=R.H.S

(i) L.H.S = sin* = +sin* = +tan> =

2

(i) L.H.S =2sin45" + 105045" =2sin45" + 1

1 (BY D3 14344 8
_ +H 2 (1) A S 1= =— =2 =RHS
2 ¢ 4 4 4
1
2 sin45°

(1\. 11 » 2 (V2) 2
= NN =4+ = 5
2) 2(1j 202 2 ()
V2
1 2+1 3
ENEENCRN
iv) LH.S-= sinzz:sinzz sinzz:sinzz
6 4 3 2
zm (1j:3j ap <113,
2 2 2 4 2 4
=1:2:3:4 =R.H.S xing by 4
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Question # 2
Evaluate the following
/4 V4 /4
tang—tang 1—tan 3
(1) p P (i1) 727[
1+ tan—tan— 1+tan”—
3 6 3
Solution
T /4 | 3-1
tan——tan— \/g - = =
0 3 6  _ V3 _ 3
1+tan£tanZ 1+\/§~L 1+1
376 V3
2
= //5 _ 2 6 Answer
2 23 B
2 T 2
Lo lmat - (B) s
iy —— = S = =— =-—— Answer
1+tan>” 1+(\/§) 1+3 4
3
Question # 3
Verify the following when 8 =30°,45°
(1) sin26 =2sinf@cos b (ii) cos20@=2cos*0-1
(iii) cos28@=2cos*8—1 (iv) cos20=1-2sin’@
2tan @
\ tan20=———
™) 1—tan’ @
Solution
(1) When =30’
L.H.S = sin26 =sin2(30) =sin 60 = \/25 .......... (i)
R.H.S = 2sin@cos@ =2sin30°cos30° =2 1 ﬁ = ﬁ ........... (1)
2 ) 2 2
From (i) and (ii)
LH.S=R.H.S
When 6=45%
L.H.S = sin26 =sin2(45) =sin90 =1 .......... (i)
1 1 2
R.H.S = 2sinfcos@ =2sin45°cos45” =2| = || = | =—=1 ........... (i1)
)
From (i) and (ii)
L.H.S=R.H.S
(i1)) When 6 =30°
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R.H.S = cos?’8 —sin* @ = cos*30° —sin*30°

2 2
BV (17 311 -
S TaTa Ty

From (i) and (ii)

L.HS =R.H.S

When 6 =45
L.H.S = cos28 =co0s2(45) =cos90 =0 .......... (i)

R.H.S = cos’@ —sin’ @ =cos* 45° —sin’ 45°

ﬁ)z_uﬂz :;—;zo ........... (ii)

From (i) and (ii)

(111) and (1v)

(v) When @ =30°

L.HS =R.H.S

Do yourself as above

L.H.S = tan26 = tan2(30) = tan 60 =/3 ... 7. .. (i)

RHS =

(1l
75 2
2tan @ 2tan 30° V3

1—tan’ @ B 1 —tan” 30;

2
e P s 2 B g
. 13 7/3/ G2 2 SV
From (i) and (i@
L.H:S=R.H.S
When 6=45°
L.H.S = tan20 =tan2(45) =tan90 =0 .......... (1)

R.HS =

2tand  2tan45  2(1)

1210

1—tan’@ 1-tan245° _1—(1)2

2 .
=00 i (i1)

From (i) and (ii)

L.HS =R.H.S

Question # 4

Find x, if tan”45° —cos”® 60° = xsin45° cos45° tan 60°

Solution
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Since tan®45° —cos® 60° = xsin45° cos45° tan 60°

This gives (1)’ — (;T ~ X(Jlijui](ﬁ )

Question # 5
Find the values of the trigonometric functions of the following

(i) -7 (i) —37 (iii)in‘ (iv)—zﬂ v) -157

(vi) 1530°  (vii) —2430° (viii) 2;57[ (ix) 4(2)77[
Solutions
(1)  Since —7 =-2x+ x, therefore
sin(—7z)=sin(-27+7)=sinz=0
cos(—r)=cos(—2z+ ) =cosm=-1
tan(—7)=tan(-27+7)=tanz =0
csc(—m)=csc(—27 + ) = cscr = oo (undefined)
sec(—m)=sec(—27+7x)=secr=-1
cot(—7z) =cot(—27 + ) =cot £ =0 (undefined)
(i1) Since 3w =—-A4rn+rx=-2(2x)+ x, therefore
sin(—37) =sin(-2(27)+ ) =sinz =0
And now find other values yourself.
(i11) Since éﬂ' = 217z =27+ r , therefore
2 2 2
sin 275 =sin 27z+E =sin£=1, cos éﬂ' =COS 27z+z =cos£=0
2 2 2 2 2 2
5 4 4 5 T 4
tan| —7 |=tan| 27+ — |=tan— = oo, csc| —7x |=csc| 2r+— |=csc—=1
2 2 2 2 2 2
5 T T 5 T T
sec| —m |=sec| 2T+ — |=sec— =oo, cot| —mx |=cot| 2x+— |=cot—=0
2 2 2 2 2

(iv) Since —375 = —4;7'[ =—61r+ 3;- , therefore

) 9 ) RY/4 . 3T
sin| —— 7 |=sin| -6+ — |=sin— =-—1
2 2 2

And now find other values yourself.
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(v) Since —157 =-16x+ x, therefore
sin(—157)=sin(-167+7)=sinz =0
And now find other values yourself.
T 17

(vi) Since 1530° =1530x % =/ z=8) r=g7+ %
180 2 2 2

So sin(1530°)=sin(875+ijsing=1

And now find other values yourself.
V4 27 1

(vii) Since —2430° =—2430x * =— 'z = 13- g=—147+%
180 2 2 2

Now do yourself

(viii) Since §7Z=116§ —1167z'+3—7[
2 2 2

Now do yourself

(i) since 7 722023 £ 22027+ %
2 2 2

Now do yourself

Question # 6

Find the values of the trigonometric function§'qt the following angles:
(1) 390° (i1) —330° (ii1) 765°

(iv) —675° (V) —13771' (vi) 13375

... 25 7 :
(vii) Zﬂ (viil) A7 (ix) —1035°
¢

Solutions
(1) Since 390° =360\30

So sin(390°) =sitl360 +30) =sin30" =

390°) =cos(360+30) =cos30" =

360+30)=tan30" =

)=

') = tan(360+30) =

csc(390°) =csc(360+30) =
") =sec(360+30) =sec30" = -

( )=

cot(390°) = cot (360 +30) = cot 30° = /3

(11)  Since —330°=-360+30
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So sin(—330") =sin(—360 +30) =sin30° =;
And now find other values yourself.
(iii))  Since 765" =720+ 45=2(360)+ 45
1
V2
And now find other values yourself.

(iv) Since —675 =-720+45=-2(360) + 45 Now do yourself

So sin(760") =sin(2(360) + 45) =sin45" =

(v) Since —1377Z'=—527Z'=—67£+73[ Now do yourself
(vi) Since 1337r=4§7[=471'+;[ Now do yourself.
(vil) Since §ﬂ=417[=47[+£
6 6 6
So sin 2—57[ —sin| 47+ 7" =sin£=l Now do yourself
6 6 6 2
(viii))  Since —717z'=—11271'=—127£+76[ Now do yourself.
(ix)  Since —1035=-1035- % =—2F 537 __ ez %
180 4 4 4
4 7 1
So sin(—-1035")=sin| —67+— |=sin—=— Now do yoursel
(-1035) [ 4J 42 yourself

Please report us error at www.megalecture@gmail.com

MEGA LECTURE

WWW.MEGALECTURE.COM
WWW. Yout ube. cont negal ect ure  Pageéois





